[ Efficiency vs vertpos |

1.2

0.8

etticiency vs vert r

0.6
0.4

0.2

.................................................

Ratio

Ihnd

0.954

1072 107

1

10 0?
TP vertr (cr%)

Efficiend

—#— DQM_mkFit_XiMinusNOPU_newDefault5
—— DQM_mkFit_XiMinusNOPUold-lowpt

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1+
0.05
e

ettici

Ratio
N
!IIII TTTT

0.95!

0

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

N 05
>
80.45
0.4
20.35
0.3
£0.25
()
0.2
0.15

£
n

lency

0.1
0.05]

L

Ratio
o
!

B

-4+

+1:

o

L
NS
o

0 5 10
Sim. PV z (cm)




	Contents
	Page 1


